
The symbols and arrows represent the evolving state (T, Td ) of an air parcel 
moving adiabatically over a mountain – condensed water precipitated
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Stony Plain radiosonde 00Z Sun 19 Oct. 2014

Edmonton City Centre Airport

Strong mixing has produced a deep 
ground-based layer whose lapse 
rate ELR ~ DALR

Can you estimate the height of the 
LCL?

inversion

zLCL ≈ = 125 (19−2)=2.13Km
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LCL at ~ 710 hPa



Height of the 710 hPa level ~ (2998+2743)/2  2.87 km ASL  or 2.17 km AGL2.17 km AGL

Normand's rule:

Find the LCL 
graphically as the 
intersection of the 
isohume that runs 
through surface 
dewpoint with the dry 
adiabat that runs 
through surface 
temperature

Stony Plain 696 m ASL
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